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(Digestion mixture: H2SCVNa2S(VSe mixture)

- (Micro-Kjeldahl method) [6]
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max Nupi (N)
max Nupi (N)
_ ’ [Ni,Ni+1]
i
(Ci)
")
0 0.1923 0.0639
1 0.2544 0.0758
2 0.2978 0.0914
3 0.1777 0.1097
4.2 m1 Cj
1q9(/V) max Nup1(/V) [Ni,Ni+1\
i=0,1,2,3 Iq(A0
KI(N) = Mi(N -N i) + Ci (4.3)
M1 Ci 4.3
[gmv)
i ki(N) " [Ni, Ni+1]
(Ci)
(Mi)
0 -0.2893 0.1174
1 -0.1601 0.0995
2 -0.1844 0.0897
3 -0.0577 0.0783
43 Mi Ci
7-j(/V)
Levenberg-Marquart Yij
y y{xj\a)
1 i=0,1,2,3,4 a r, (IV)

(4.1)
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rt{N)
4.4
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0 0.2490 0.2070
1 0.2257 0.2014
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Nitrogen uptake (g/pot)

I «1 Pi Yi
0 0.2490 -0.4964 0
1 0.2257 -0.1428 5.7438
2 0.2268 -0.0143 -3.6525
3 0.2205 -0.0537 3.0115
0 0.2070 -0.0531 0
1 0.2014 -0.1667 -1.8472
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(Nupiin1£)) = DwOea" (Nup'(w+)-°-0037) + bt(Nupi(N,t) - 0.0037) (4.4)

D w I 1 ( )
Dwo £D( ’ )

Nupi(N,T)

T
( )
Nupi(N,t)
N
( )
aN bt Nupi(N,T) Nupt(N ,t)
T £ ) 18 < 1, £< 66
0.0037
aN
bt
Levenberg-

Marquart 3 353 4.6
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()

18 - 42

42 - 66

aN

D w

Nupi(N,T)

(a)
43.7613

36.2243
28.7705
23.0488
23.8909
29.3024
28.5489
26.8349
25.1333

19.1264

D w

Nupi(Nn1D)
Oh)
7.050

23.030
30.123
36.5543
33.927
50.695
46.555
33.575
25.272

50.301
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